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(D z=fic 4 50AG, 1, 3), B(4, 4, 3), C(2, 3, 5), D(4, 1, ) »h3.

(i) DAYDBOATfi%OLBLE, 0= THs. HEL, °<0<180° LT 5.
(ii) Mk ABCD R TH%.

(2) a%#FEHELd5. 2IZONTO2XFBRER 22 — 2xlogy{(a+1)(a—5)} +4=0DfED 1 >MN2TH b
L ¥, qoffilz Thp. £72, ZO2RAEASTEEME L 7B\ &> 5 a DO I
Thd.

(3) FHR 22 + 21 < y < 20+ 2 < 3y ORTHAOWHIE Chs. Ef, ZOWELEOM (L, ¥)
D55, 51—y BRI 8B &> R HOERI ThH5.

(4) nIZIEEOEBE 5. BEE 1B, 2B F/RIZ3BRED. 20X, nBENORDIBEDEY SOk
Bra,b55. WlziE, aa=1ThY, aa=27Th5.

(1) ag DfEIx Thd.
(ii) aq OfEIX Thd.
(iii) ajg DfiEl Thb.

(5) 0<t < e5. iRy = sinxL@;ﬁP(H—i sin(t—i—%)) CB SR L LB, H

2 D)
xz%%mtiﬁ%, WL L ERm DR E QLT B,
(i) t=5 ors, HQOmEM Th5.
(il) #ity = sinz &6 0 35 £ 0T m G £ h 7 84 OTifE SO L45 L %, tn%%“ O

ik [F] cha.




